BEX/ @R/ RS /5%

SZME R KA ]

> HiE

FEATHmAKAK. I, Bk, KRS KIHaIME, H
KA. {EFREYRNMEKRZB. RAIZRATANRK, Skt
Bl WhEEARE, KFBHRETE,

P SEH5RSR

FHEBMVEESIE. (16, TR, EHRBGBEHE
Bl BFERVHR A T RIS 2R R
X, FUARERE. MMER. EREGK. TURREZNE =
HRESHERITEE R, ﬁumwﬁﬁ

BRASH SEM. —

> L]
1, @ IEEMO.1IMPa 2, #ER&E/NTF1.24Umin.n —L #1102 % x &(mm)
AERF

P SR RRR

o R EHERA
Wi
pDxb | B B |c|E[c|b @ L |Lxn|L]H [mod| maxa [P ]axe
SZM-500 @ S500x500 | 680 | 640 | 370 | 117 ) 135 | 40 25 1000  250x4 | 90 [ 1250 | 10-14.5 | 10-120% 120 | 250 |M12 x 200
SZM-600 ﬁfﬂxfﬂ]i?m 740 | 420 | 117 | 140 | 40 25 11200 | 300x4 | 90 | 1450 | 10-14.5 | 10-120x 120 | 250 | M12 x 200
SZM-800 @ RDOx 800 | 980D | 940 | 520 | 119 | 165 | 50 30 Ilfﬂ} 200x8 | 90 | 1880 | 10-14.5 | 10-120x 120 | 250 |M12 x 200
SZM-1000 l‘[ﬂ)xlm‘llm} 1140 | 620 | 120 | 174 | 50 | 30 | 2000 | 250x8 | 90 | 2180 | 10-14.5 | 10-120x 120 | 250 |M12 x 200
SZM-1200 | 1200 x 1200 | 138011340 | 730 | 1290 | 194 | 50 | 40 I2400 300x8 | 90 | 2610 | 10-14.5 | 10-120x 120 | 250 |M12 x 200
m—lm_lmxl-ﬂﬁ‘lm 1540 | 830 | 129 | 214 | 50 | 40 | 2800 | 350x8 | 90 | 3010 | 10-14.5 | 10-120x 120 | 250 ({M12 x 200
MASERRERT 248 4 [0 B
I
E od
L1 L/
g Wi i
I
g a :90
1 .; ,}
9 Hie
| +3-
3 &
"y = ¥ B

JE_I

i |

iz 28

SHENGYIHENG



